Chapter 11. Radical Expressions and Triangles

Ex. 11.6

Answer 1CU.
To determine similar triangle have to follow two main tests for similarity as

If the angles of one triangle and the corresponding angles of a second triangle have equal
measures, then the triangles are similar.

If the measures of the sides of two triangles form equal ratios, or are proportional, then the
triangles are similar.

Answer 1PQ.

It is given that
a=14.b=48,¢c="

To evaluate the value of ¢ follow step
c=a +b [Fythagurean thecrrem]
¢’ =14" +48" [a=14,b =48]

e’ =196+ 2304
e* =2500 [Simplify]

Take the square root of each
c=+J2500 | . 1 }
side

Therefore, the length of the hypotenuse is [50 units|



Answer 2CU.

The similar triangle AABC and ADEF are drawn as shown below

A 3cm C D 6 cm F
Corresponding angles Corresponding sides
ABand DE» 2.1
ZA and £ D DE: 4 2
ZBand ZE BC and E—}%=?=%
LCandZF - ;’:C‘ -
AC and DF - —=—=~—
DF 6 2
Answer 2PQ.
It is given that
a=40c=41,b="7
To evaluate the value of b follow step
=a +b [Pylhagurt:an thaurem]
41 =40 +b*  [a=40,c =41]
1681 = 1600+ b*
81=p’ [Subtract 1600 from both sides]
+81=h [ Take square root of 81]
9=4h
9=h [Use positive value]

Therefore, the length of the leg is .



Answer 3CU.

The similar triangle AXYZ and AUTYV are drawn as shown below

' 1
Y
X Z T vV
Corresponding angles
ZX =2V
LY =2U
2L =2£T

Consuela comparing similar triangle is correct as Consuela take the same measurement of the
triangles with the another triangle.

Answer 3PQ.
It is given that
b=8,c=+84,a="7
To evaluate the value of a follow step
¢’ =a’+b* [Pythagorean theorem|

¥

(V84) =a*+8 [b=8.c=84]

84=a +64
20=da’ [Sul:rlr'dcl 64 from both side:+]
+J20=a [ Take square root of 20]
+4 47 =aqa
447=a [Use positive value]

Therefore, the length of the leg is [4 47 units]-



Answer 4CU.

M

§4°

0 46° 46°
R Q

The sum of the measure of the angles in a triangle is 180°-

The measure of pis 180° -[46" +46“]:88”

In AMNO. ZNand /¢ have the same measure.
Consider x =the measure of £ and £0.
x+x+84" =180
2x =96
x=48"
S0, /N =48"and ¢ = 48". Since the corresponding angles have not equal measures,

therefore, the pair of triangles is not similar.

Answer 4PQ.
It is given that

azdrf_:ﬁbzs}'rg‘c:?

To evaluate the value of c follow step
¢'=a'+b"  [Pythagorean theorem]

¢ =(V5) +(v8) [a=+5.b=18]

¢’ =5+8

¢’ =13
c=+J13 [Take square root of 1 3]
¢ =13.61

c=3.61 [Use positive valuﬂ]

Therefore, the length of the hypotenuse is [3 61 units|



Answer 5CU.

N
R
1 39°
95°
M o p 0

The sum of the measure of the angles in a triangle is 180"-
The measure of ~pis 180° —(35” +9{}“}=55"

N AMNO -

Consider x =the measure of /N .

x+55" +90" =180°

x+145" =180°
x=180"-145"
x=35"

50, sN=35"and sp=135". M =55"and p=55". Since the corresponding angles have
equal measures, therefore, the pair of triangles is similar, AMNO ~ APOR .

Answer 5PQ.
Consider the two points:

(6,-12),(-3,3)

Therefore the distance between the two points will be:

y
/

.

'

d Xy =X )2 + (}J: _.Vl)

(

(-3-(6)) +(3-(-12))
=\(-9) +(15)
=+/306

d= Round to the nearest hundredth




Answer 6CU.

A b C D e F

It is given that
AABC ~ ADEF and ¢c=15,d =7,e=9,f =5

Since the corresponding angles have equal measures, AABC ~ ADEF - The lengths of the
corresponding sides are proportional.

AB  BC | Corresponding sides of similar
DE EF | triangles are proportional

c_a
fod
IS_.-::

S [¢=15d=7e=9F=5]

54 =105 [Find the cross product]
a=21  [Divide each side by 5]

AB  AC [C{arrespunding sides of :-;imilar]

DE  DF | triangles are proportional
c b
fe

15 b

TR [c=15,d=T,e=9, f =5]

5h=135 [Find the cross product]
b=27 [Divide each side by 5]

Therefore, the missing measures are 21 and 27|



Answer 6PQ.

Consider the two points:
(1,3).(~5.11)
Therefore the distance between the two points will be:
d= \/r:r XY +(3-n)
J( S-(1)) +(11-1)°
=\(-6)" +(10)
136
d= Round to the nearest hundredth

»

Answer 7CU.

A b C D e F

It is given that
AABC ~ ADEF and a=18,c=9,e=10, f =6

Since the corresponding angles have equal measures, A4BC ~ ADEF - The lengths of the
corresponding sides are proportional.

AB BC Corresponding sides of similar

DE EF triangles are proportional }
a

d

:E a=18,¢=9,e=10,f =6
p :

e |

9d =108 [Find the cross product]
d=12  [Divide each side by 9]



AB  AC | Corresponding sides of similar
DE DF

triangles are proportional

c_b
f e
9 b
—_——=— H=]3,C=g,ﬂ=]ﬂ, =6
6 10 [ 4 ]

6b=90 [Find the cross product]
b=15 [Divide each side by 6]

Therefore, the missing measures are |12 and 13|

Answer 7PQ.
Consider the two points:

(2,5).(4,7)

Therefore the distance between the two points will be:
d =\/{I1 _II) +{JJ1 _.}"l)
J(4=2) +(7-5)

S ORC
W

d= Round to the nearest hundredth

2z 2




Answer S8CU.

It is given that
AABC ~ADEFand a=5,d=17, f =6,e=5

Since the corresponding angles have equal measures, AARC ~ ADEF - The lengths of the
corresponding sides are proportional.

AB BC | Corresponding sides of similar
DE EF | triangles are proportional

In =~|n
v oo

= a=5d=7,f=6,e=5
c5 r=6e=5)

7¢ =30 [Find the cross product |
c¢=4.3 [Divide each side by 7]

BC AC |:Cn':rrf::~:pnndingsidesnf‘aimilar}

EF  DF | triangles are proportional
a b
d e
5 b a=5d=1,
775 L‘={3,e=5}

7h=25 [Find the cross product |
b =3.58 [Divide each side by 7]

Therefore, the missing measures are |4.3 and 3.58|



Answer 8PQ.

Consider the two points:
(-2,-9),(-5.4)
Therefore the distance between the two points will be:
d= J[ x,

= ((-5)-(-2 ) +(4-(-9))

+
Iu
"-::
p—

|78
d =[13.34 Round to the nearest hundredth

Answer 9CU.
B

A b C D e F

It is given that

AABC ~ADEFand a=17,b=15,¢=10,f =6

Since the corresponding angles have equal measures, AABC ~ ADEF - The lengths of the
corresponding sides are proportional.

AB BC | Corresponding sides of similar
DE EF | triangles are proportional

£_E

fod

LA [a=17,b=15,c=10, f =6]
6 d |

104 =102 [Find the cross product]
d =10.2 [Divide each side by 10]



AB AC [Currespunding sides of similar]

DE DF | triangles are proportional
L
I e

L [a=17,b=15,c=10, f =6]
6 e

10e =90  [Find the cross product]
e=9 [Divide each side by 10]

Therefore, the missing measures are [10.2 and 9|

Answer 9PQ.
B

It is given that
AABC ~ AEFD
b=10,d=2e=1,f=1.5

Since the corresponding angles have equal measures, A4RC ~ ADEF - The lengths of the
corresponding sides are proportional.

AB  AC [Cnrrespunding sides of similar]

DE DF triangles are proportional
L

f e

c 10

Yo [6=10,d=2,e=1,1=15]

c=13 [Find the cross pmdu{:l]



BC AC | Corresponding sides of similar
EF  DF | triangles are proportional

2 8
d e
%=$ [b=10,d=2,e=1,1=15]

a=20 [Find the cross pmduct]

Therefore, the missing measures are [15 and 20|

Answer 10CU.

M
P
25 ft IN
0 26 ft R
N 10 ft 0

Consider the height of the building is x ft.
Since AMNO ~ APQR . it can be written as

Corresponding sides of

MN NO| . . ;
—— =—— | similar triangles are
PO QR .
proportional
25_10
x 26

10x =650 [Find the cross product]
x=65 [Divide both side by 10]

Therefore, the height of the building is [55 .



Answer 10PQ.

A b

It is given that

AABC ~ AEFD
a=12,¢=9,d=8e=12

Since the corresponding angles have equal measures, A4RC ~ ADEF - The lengths of the
corresponding sides are proportional.

AR BC Corresponding sides of similar
DE EF triangles are proportional

£
!
9

f
12 =72 [Find the cross product]
f=6  [Divide both sides by 12]

[a=12,c=9,d=8,e=12]

so|fm &I

BC AC Corresponding sides of similar
EF  DF | triangles are proportional

e_b
d e
%:% [a=12,c=9.d =8,e=12]

8h =144 [Find the cross product]
b=18 [Divide both sides by 8]

Therefore, the missing measures are |5 and 18]



Answer 11PA.

M P
N Q
The sum of the measure of the angles in a triangle is |g0°-

The measure of ~pis 180° -(54” +2I“)= 105"

In AMNO .

Consider x =the measure of /().

x+105° +21° =180"

x+126" =180°
x=180"-126"
x = 54"

So. N =21and £0=21". ZM =105"and £P=105". £O=54"and <R =54°. Since
the corresponding angles have equal measures, therefore, the pair of triangles is similar,
AMNO ~ APOR .

Answer 12PA.

M

>
7

The sum of the measure of the angles in a triangle is 1g0"-

The measure of #Qis 180° -—(6{]” +42”) =78’

In AMNO.

Consider x =the measure of S0
x+60" +79" =180°
x+139° =180°
x=180"-139"
x=41"

S0, N =79"and £O=78". sM=60"3Nd £P=60°. £0=41"3nd /R = 42" Since the
corresponding angles have not equal measures, therefore, the pair of triangles is not similar.



Answer 13PA.

P
M R
The sum of the measure of the angles in a triangle is 180°-
The measure of Qs 180" —{iﬂ” + SD"] = 80"

In ﬂ,-’ld.-"u“(?-
Consider x =the measure of £().

x+ 60" +50" =180°

x+110" =180"
x=180"-110"
x=T70"

S0, /M =60"and ZP=50". Z#N=50"and ZR=50". Z0=T70" and £Q=Eﬂ”- Since
the corresponding angles have not equal measures, therefore, the pair of triangles is not

similar.
Answer 14PA.

R

N

The sum of the measure of the angles in a triangle is |S[_}”‘.
Since ZMON = £ZPOR [Dppusile angle]. S50 S MON = ZPOR =80"-

The measure of - pis 180" — {S[}" +4f—1-“} = 56"



In AMNQ .
Consider x =the measure of /N .
x+80" +56" =180°
x+136" =180"
x=180"-136"
x=44"

S0, /M=56"and #P=56". /ZN=44" and ZR=44", /MON =80" and ZPOR=80".
Since the corresponding angles have equal measures, therefore, the pair of triangles is similar.

Answer 15PA.

N, 0

23!

P

The sum of the measure of the angles in a triangle is 1g0"-

The measure of ~pis 180" -{55” +55° ) =70"

In AMNO. #Nand £ have equal measure.

Consider x =the measure of N and /).

x+x+88" =180"
2x+88° =180°
2x=92"
x = 46"
So, /M =88 and ZP=70". ZN=46" and ZR=55". Z0=46" and ZQ=55". Since

the corresponding angles have not equal measures, therefore, the pair of triangles is not
similar.



Answer 16PA.

P M

N 0
0 R

The sum of the measure of the angles in a triangle is 180°-
The measure of ZQis 180° ——[45“ +45”]=9{]”

In AMNO .

Consider x =the measure of jf .

x+2x+45° =180°
3x+45" =180"
Ix=135"

x=45"

So, ZM=45"and ZP=45". ZN=45"and ZR=45". Z0=90" and £0=90". Since
the corresponding angles have equal measures, therefore, the pair of triangles is similar.



Answer 17PA.

N o P
It is given that
AKLM ~ ANOPand k=9.n=6,0=8,p=4

Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL LM | Corresponding sides of similar
NO OP | triangles are proportional

n_k
pon
®_2  [k=9n=60=8p=4
E_E [ =9.n=6,0=8,p= ]

6m =36 [Find the cross product]
m=6  [Divide each side by 6]

NP OP triangles are proportional
/

L)

KM LM | Corresponding sides of similar}

[kzg,nzﬁ._,nzﬂ,pzéi]

oo s | =

!
8
6/ =72 [Find the cross product]

/=12 [Divide each side by 6]

Therefore, the missing measures are |6 and 12



Answer 18PA.

N 0 P
It is given that

AKLM ~ ANOP and

Since the corresponding angles have equal measures, AKILM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL LM [Cnrrespunding sides of similur]

NO  OP triangles are proportional
m k
p n

= [k =24,1=30,m=15,n=16]
p 16

24p =240 [Find the cross product]
p=10  [Divide each side by 24]

KM LM | Corresponding sides of similar
NP OP triangles are proportional

I _k
i n
3 _ = [k =24,0=30,m=15,n=16]
o 16

240 =480 [Find the cross product|
0 =20 [Divide each side by 24|

Therefore, the missing measures are |10 and 20{



Answer 19PA.

N 0 P
It is given that

AKIM ~ ANOPand m=11L,p=6,n=5,0=4

Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL LM | Corresponding sides of similar]

NO  OP triangles are proportional
m .k
p n

——f:- [mzll,pzﬁ,nzir;zd-]
6 5

6k =55 [Find the cross product]
k=92 [Divide each side by 6]

KM LM | Corresponding sides of similar

NP 0P triangles are proportional

22 (92 mellpmtin=50=4]

5/=36.8 [Find the cross product]
/=74 [Divide each side by 5]

Therefore, the missing measures are 9.2 and 7. 4|



Answer 20PA.

N 0 P

It is given that
AKLM ~ ANOPand k=16,/=13,m=12,0=7
Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.
KL KM Corresponding sides of similar
NO NP triangles are proportional

m_e"

p oo
BB k=161=13,m=12,0=7]
p 7

I13p=84  [Find the cross product ]
p=6.5 [Divide each side by 13]

KM LM | Corresponding sides of similar
NP 0P triangles are proportional

I_k
] M
B [k=161=13,m=12,0=7]
7 n

137 =112 [Find the cross product]
n=8.6 [Divide each side by 13]

Therefore, the missing measures are |6.5 and 8.6(



Answer 21PA.

N 0 P
It is given that
AKLM ~ ANOPand n=6,p=25,1=4,m=1.25

Since the corresponding angles have equal measures, AKILM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL LM I:Corraspﬂnding sides of simi!ar]

NO oP triangles are proportional
m_k
p n

%=% [n=ﬁ,p=2.5J=4,m=|.25]

2.5k = 7.5 [Find the cross product]
k=3 [Divide each side by 2.5]

KM LM | Corresponding sides of similar

NP OP triangles are proportional

[k=3n=06,p=251=4,m=125]

30=24 [Find the cross product]
0o=8  [Divide each side by 5]

Therefore, the missing measures are |3 and 8|



Answer 22PA.

N 0 P
Itis given that
AKLM ~ ANOPand p=5k=10.5,/=15,m=1.5

Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL LM | Corresponding sides of similar
NO  OP triangles are proportional ]
m Kk
P on

75_105

n=5k=105I=15,m=175
2 n [.r ]

7.5n=52.5 [Find the cross product]
n=7 [Divide each side by 7.5]

KM LM | Corresponding sides of similar

NP OF triangles are proportional

!_k

0} n
DY n=7p=5k=1051=15m=15]
o

100 =105 [Find the cross product]
0=10.5  [Divide each side by 10]

Therefore, the missing measures are [/ and 10.5|.



Answer 23PA.

N 0 P
It is given that

AKIM ~ANOpPand n=2.1,1=44,p=27,0=3.3

Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.

KI. KM | Corresponding sides of similar

NOQ NP | triangles are proportional

m_1

_P (o)
_;Ln__:Id.‘,_d. Iu:ﬁ_]_f:d-_ll, ;;:2.15::3.3]
2.7 33

3.3m=11.88 [Find the cross product]
n=3.6  [Divide each side by 3.3]

KM LM | Corresponding sides of similar
NP OP triangles are proportional

f_k
[ n
e SN [n=2.1,1=44,p=2.7,0=3.3]
33 2.1

3.3k =105 [Find the cross product]
k=318  [Divide each side by 3.3]

Therefore, the missing measures are [3.6 and 31.8(



Answer 24PA.

N 0 P
It is given that

AKLM ~ ANOPand m=5,k=12.6,0=8.1,p=2.5

Since the corresponding angles have equal measures, AKLM ~ ANOP . The lengths of the
corresponding sides are proportional.

KL KM | Corresponding sides of similar

NO NP triangles are proportional

m L
p o
% :E_!:lh [m: 5k=126,0=8.1,p= 2.5]

2.5!=40.5 [Find the cross product]
=162 [Divide each side by 2.5]

KM LM | Corresponding sides of similar
NP OP | triangles are proportional

r_k
[l H
%:% [[=16.2,m=5k=126,0=8.1,p=2.5]
16.2n =102.06 [Find the cross product]
n=6.3 [ Divide each side by 3.3]

Therefore, the missing measures are [16.2 and 6.3]



Answer 25PA.

N 0
It is given that
m=3p.k=3no0=31

Corresponding sides

N6 wmd L0 2_p 1

KL m _3;1 3

LM andﬁ—}ﬁ-ﬂh LI,

IM % 3n 3
NP o o 1

ﬁ and ﬁ*—}

KM | 30 3

If the measures of the sides of two triangles form equal ratios, or are proportional, then the
triangles are similar.

AKLM ~ ANOP

Therefore, the statement is true.



N 0 P
It is given that
m=3p.k=3no0=3

Corresponding sides

— M,

NOadKLC_p_p _1
KL m 3p 3

T and OBy =B e B 2
LM k 3n 3

XM and WP > =201
KM [ 30 3

If the measures of the sides of two triangles form equal ratios, or are proportional, then the
triangles are similar.

AKLM ~ ANOP
Therefore, the statement is true.



Answer 26PA.

Film
Lens
A
P
0
’m { 1.5 cm
Q

B % Scm—'

Distance from Distance from
lens to object lens to film

Since the corresponding angles of the given figure are in equal measure so, the triangles ABO
and PQO are similar.

£A=20

LP=/B
LZAOB = ZPOQ

Now, AABO ~ APQO

If two triangles are similar, then their corresponding angle sides are in proportional.

200 _ = [2 m =200 t.:m]

15 3
1.5x = 600
x =400

Therefore, the distance from the lens to man is 400 cm or 4 m|




Answer 27PA.

It is given that

The model of a truss bridge in the scale measurement is

lin.=12 feet

The height of the triangles on the actual bridge is 40 feet.

Now, the height on that model can be calculated as

12 feet =1 in.
1 ﬁ:~|:t=L in.
12
40 fi:w:l:[ixilﬂ] in.
12
=33 in.

Therefore, the height on the model is 33 in.

Answer 28PA.

42 in.
42-(x+10)
E

Consider the triangles ABC and CDE
ZB=/2FE
LACE = ZDCE
If the angles of one triangle and the corresponding angles of a second triangle have equal
measures, then the triangles are similar.

Thus,
AABC ~ ACDE



Since triangles are similar so,

4B _BC
DE CE
E_ X

28 42-(x+10)

A

3=
32-x
06-3x=x
06 =4x
96
— _1'
4
24=x

Therefore, Leno's ball should strike the rail in

Answer 29PA.

It is given that an isosceles right angled triangle side measure 2 in_, 2in., 2.8 in

The isosceles triangle is drawn as shown below

2.8 in.

2 in.

MNow, 4 in. square is drawn to make the no of triangles as shown below:

4 in.

2 in. 2 in.

4 in.

4 in.

2 in. 2 in.

2.8 in.

2in. 2 in.

4 in.

Therefore, the no of triangles of having side lengths 2 in_, 2in., 2.8 in is .



Answer 30PA.

It is given that an isosceles right angled triangle side measure 2 in., 2in., 2.8 in..

The isosceles triangle is drawn as shown below

2.8in.

2 in.

Mow, 4 in. square is drawn to make the no of triangles as shown below:

4 in.

2 in. 2 in.

4 in.

4 in.

2in. 58 in| 21

2 in. 2 in.

4 in.

Therefore, the no of largest triangles when she cut from the square is .



Answer 31PA.

A

% C
6 ft

B 80 ft p 9ft D

Consider x be the height of the building and A4EP ~ ACDP .
It is given that
BP=80 ft,PD=9fR,CD=6ft

Since the corresponding angles have equal measures, A4BP ~ ACDP . The lengths of the
corresponding sides are proportional.

AB  BP [Cﬂrrcsponding sides of similar

cD  PD triangles are proportional
X 30 [pp=80 PD=9 ,CD=6 1]
6 9
Ox =480

x=53  [Divide each side by 9]

Therefore, the height of the building is [53 .



Answer 32PA.

A

X C
6 ft

B 80 ft p 9ft D

To solve the problem it can be assumed that the triangles ABP and CDF are similar triangle. By
using the side proportionality condition, the height of the building can be estimated.

Therefore, AABP ~ ACDP

Answer 33PA.

The circles are drawn as shown below

The radius of one circle (R) is twice the radius(r) of another.

R=2r

Yes, the circles are similar since all the two circles are in the same shape so they are [similar

triangles).



Answer 34PA.

The circles are drawn as shown below

It is given that

The radius of one circle (R) is twice the radius(r) of another.
R=2r
The circumference of the larger circle is

C=2xR

The circumference of the smaller circle is

c=2xr

The ratio of the circumferences is

C _2zR
c 2ar
_ &
=
. [R=2r]
»
2
1

Therefore, the ratio of the circumferences is .



Answer 35PA.

The circles are drawn as shown below

It is given that

The radius of one circle (R) is twice the radius(r) of another.

R=2r

The area of the larger circle is

A=rxR?

The area of the smaller circle is

2
a=xr

The ratio of the areas is

A_aR’

(=]

-
4
|

Therefore, the ratio of the areas is .



Answer 36PA.

Film
Lens

1.5 cm

0

3
B x CHF———1
Distance from Distance from
lens to object lens to film

When we take a picture, the image of the object being photographed is projected by the
camera lens on to the film. The height of the image on the film can be related to the height of
the object using the similar triangle.

Since the corresponding angles of the given figure are in equal measure so, the triangles ABO
and PQO are similar.

£A=ZL0
ZP=/B
ZAOB = ZPOQD

Now, A4ABRO ~ APQOC

If two triangles are similar. then their corresponding angle sides are in proportional. So, the
image of large object of the picture can be fit by proportional sides as when side increases, the
size of the shape will also increases with the constant ratio.



Answer 37PA.

It is given that
£C=90", 2D =90"

To find the similarity in A4RBCand A4CD. two angles must be similar with the other triangle so,
the triangle A4BCand A4CDare not similar.

Therefore, (D) None of these.



Answer 38PA.

It is given that
£C=90", 2D =90"
In A4BCand A4CDUsing triangle side sum theorem

AC+BC > AR
AD+CD = AC

Therefore, (A) 4B > D statement is always true.

Answer 39MYS.
Consider the two points:

(1.8).(-2.4)

Therefore the distance between the two points will be:

il

P

d Xy =X }3 + (-": _.Vl)

2

I
— =

-2-(1)) +(4-8)

_3}

[
—

+(-4)

[
2
N

d = Round to the nearest hundredth




Answer 40MYS.

Consider the two points:
[ﬁﬁ —E]i{llﬁ]

Therefore the distance between the two points will be:
ﬂr=\{(_‘1'2 — }2 "H:.}"z 'fl]z

= J(12=(6)) +(5-(-3))

=(6)" +(8)

=+/100
o =(10.00 Round to the nearest hundredth

Answer 41MYS.
Consider the two points:

{411'],(3,[2}

Therefore the distance between the two points will be:

d = Round to the nearest hundredth

Answer 42MYS.

Consider the two points:
(1.5v6).(6.76)

Therefore the distance between the two points will be:

d=\/{:x: _'rl}: +(J"z =W )2

= J(6-())' +(16 -5V6)
,j{s (2v6)

d zm Round to the nearest hundredth



Answer 43MYS.
Since the measure of the longest side is 65, consider ¢ =65,a=25 andb =60.

Then determine whether »? = 4% 4+ j2.

¢’ =a’+b’  [Pythagorean theorem]
c=65a=25

and b = 60 ]

42257625+ 3600 [Multiply]

422574225 [Add]

65° 3252 +60° [

Since »* = 4% 4 2. the triangle is a right triangle.

Answer 44MYS.
Since the measure of the longest side is 35, consider ¢ =35,a=20andb=25.

Then determine whether o2 = ;2 4 p*-
¢’ =a’+b"  [Pythagorean theorem]

c=35,a=20
and b =25
12252400+625  [Multiply]

3577207 +25° {

1225 #1025 [Add]

Since ! = 4% 4+ p*. the triangle is not right angled .

Answer 45MYS.
Since the measure of the longest side is 175, consider ¢ =175,a=49 andbh=168.

Then determine whether 2 = ;* + p*.
¢’ =a’+b’  [Pythagorean theorem]

1757249° +168° r e ]

and b =168
3062522401+ 28224 [Multiply]

30625 = 30625 [Add]

Since ! = 4% 4+ p%. the triangle is right angled .



Answer 46MYS.
Since the measure of the longest side is 12, consider ¢=12,a=7 andb=9.
Then determine whether »2 = 42 4+ p*-

¢’ =a’+b’  [Pythagorean theorem]

122972 + 92 [czu’”ﬁ}

andb =9
144249 +81  [Multiply]

144 #130 [Add]

Since 2 = 42 4+ 2. the triangle is not right angled .

Answer 47MYS.

Consider the polynomial is

1+3x —Tx

The standard equation of polynomial is

ax” +hx" " e =ax" + b+ e

Therefore, the arrange term of the given polynomial is |32 —7x+1/-

Answer 48MYS.
Consider the polynomial is

7—4x—2x* +5x°
The standard equation of polynomial is

ax” +bhx" o e =ax" + b ... e

The polynomial can be written as

5xP—2x' —4x+7

Therefore, the arrange term of the given polynomial is |5 — 24 —4x 4+ T7|-




Answer 49MYS.

Consider the polynomial is

6x+3—3x°

The standard equation of polynomial is

ax” +hx" " e =+ b e

The polynomial can be written as

3 +6x+3

Therefore, the arrange term of the given polynomial is

Consider the polynomial is

6x+3-3x°

The standard equation of polynomial is

ax” +hx" e = ax" b .t

The polynomial can be written as

—3x* +6x+3

Therefore, the arrange term of the given polynomial is

Answer 51MYS.

Consider the system of equations

Add the equation (1) with equation (2)

2x+y=4
X=y=35
ix=9

x=3

—3x" +6x+3|

—3x" +6x+3|




MNow, substitute y = 3in the equation (2)
x—y=5
3—yp=35
3-5=y
2=y

Therefore, the solution is |(x, ) =(3,-2)

Answer 52MYS.
Consider the system of equations

Multiply equation (1) by 5 and equation (2) by 2 Mow, subtract the equation (2) from equation
(1).

15x =10y = =65

4x =10y ==10
11x ==55
x==5

Mow, substitute y = —5in the equation (2)
2x=5y=5
2(-5)-y="5
-10-5=y
—15=y

Therefore, the solution is (.r,y] = (—5,—[5)

Answer 53MYS.

Consider the system of equations

0.6m-02n=09 - (1)
0.3m=045-0.1n - (2)

Rewrite the equation (2) as

0.3m+0.1n=045 - - (3)

Multiply equation (3) by 2 and add the equation (1) with equation (3).
0.6m-02n=09
0.6m+02n=09

1.2m=1.8
m=1.5




Now, substitute p; =1.5in the equation (2)
03m=045-0.1n
0.3(1.5)=0.45-0.1n
0.1n=0.45-0.45
n=0

Therefore, the solution is |(m,u)=(1.5,0)

Answer 54MYS.

Consider the system of equations

11

—x+—yp=8 ... (1)
30 27

1]

LIV 2)
2" 3Y

Multiply equation (2) by 2 and add the equation (1) with equation (2).
1 1
—x+=—y=8
3 2'},
1

e y=0
x 2_1;
4

—x=8
3

x=06

Now, substitute y = gin the equation (2)

Therefore, the solution is |(x, y) =(6,24)




Answer 55MYS.

140 mi

37000 ft

4500 ft

It is given that

I mi.=5280 fi
140 mi = (140x5280) ft = 739200 fi

R ise

Slope of descent =
Run

~4500-37000
T 739200
32500
739200
=—0.044

Therefore, the approximate slope of descent should be .

Answer 56MYS.
Consider the expression

o

o
It is given that
a=6,b==-5,c=-1.5

To evaluate the value of the expression follow step

—=—= [a=6,b=-5,c=~15]

Therefore, the value of the expression is .



Answer 57MYS.

Consider the expression

b

e
It is given that
a=6,b==-5c=-1.5
To evaluate the value of the expression follow step

2 s [a=6,b=-5,c=-1.5]
a 6

= 0.83

Therefore, the value of the expression is _D‘B:a; :

Answer 58MYS.
Consider the expression

a+b

&

It is given that
a=6b==5c=-1.5

To evaluate the value of the expression follow step

gth _g-2 [a=6,b=-5,c=-15]
c -1.5
—
1.5
=-06

Therefore, the value of the expression is |_p gl-

Answer 59MYS.

Consider the expression

ae

b

It is given that
a=6,b==5,c=-1.5
To evaluate the value of the expression follow step

%:@ [a=6,b==5,c=-1.5]

= owa|

8
Therefore, the value of the expression is .



Answer 60MYS.
Consider the expression
h

a+c

It is given that
a=6,b==-5,c=-1.5

To evaluate the value of the expression follow step

b .2) [a=6,b=-5,c=-1.5]
ate 6-1.5

_3
4.5
=—11

Therefore, the value of the expression is |_j 1|

Answer 61MYS.
Consider the expression

<

a+c

It is given that
a=6,b==-5,c=-1.5

To evaluate the value of the expression follow step

Fis - {_15} [ﬂzﬁjbz—S.C:—I.S]
at+e 6-1.5

-15
45
I

3
=-03

Therefore, the value of the expression is |_p 3|-




